
SCH 4U Reactions of Organic Compounds Modeling Activity

Part Two:

Elimination
Oxidation
Esterifi cation (Condensation)

Hydrolysis

Build the following examples, and draw out the structural equation.

Finish the word equation

Elimination: Removal of water from an ALCOHOL to make an ALKENE
Concentrated Sulfuric acid is needed as a catalyst
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Oxidation: oxygen atom is used to reduce the number of C-H bonds. Water is a

byproduct after the first oxidation. **When an aldehyde is oxidized to a carboxylic

acid, there is no other product.

oxidizing agents may be KMnO+ orKzCrzOt, but is syrnbolized bv [o]



Esterification (Condensation): An ALCOHOL and a CARBOXYLIC ACID

combine to produce an ESTER. Water is a by-product.
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Hydrolysis: The addition of water to an ESTER to produce an ALCOHOL and a

CARBOXYLIC ACID



SCH 4U Reactioras of Organ'ric Compoarmds h4odeElinE Actirzitv

Parf On e :

Subsriitut!on
Ad diti* n (ira1 c g enati crr, hyCrc g enati on, h;v drchai o g enaticn, hydraii on)

BuilC the foltrcwing to visuaitze the reactions. Dra-R' out the

stracf*ral equation, and finishthe worC equation'
**REMEMBER TELAT EIYFR.OGEN OXYGETq ANS
E{ALOGEI{S ARE ATI_, DIATOMIC ELEME}qTS!!

SUBSTITUTtrON REACTIONS (for Alkanes)
A Hydrogen atom is REPLACED by another atom or g"ouP of atoms.

Requiresleat, ot ultravioletiadialion.
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ADB{TIOI{ REACTIONS (for,Allienes and Ai}qmes}
A smaii moiecule is ADDED to the doubie or tripie bon<i witir lrlO
LOSS OF H\DROGEN atoms.
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S{IBSTITUT}ON R.EACTION$ (for $.rumatic,s) ; . :

A Flydrqge4;atom is REPL$,QPp,, ilrqpfl*r alom ol,group pf atonrg,

Uniike Alkenes, Aromatic t V4f,gqf,*gngrgSdQr,,t,: ,,

S{JBSTITUTION reactions, NOT ADDITION REACTIONS l!
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#6 is differ:ent from the foliowing; (#7) which is a cyclic alkene (undergoing addition):
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